
DESK
Assembly Instructions - Please keep for future reference

N704P287837K/N704P287838K

Important-Please read these instructions fully before starting assembly

ZG-100#lssue 3-25/03/14



1 



2 



Assembly Instructions

1

x2

2

3
4

5

6

6

7

8

9

10

12

13

14

11

15

16

17

19

20

21

22

23

23

24

25

24

25
18

26

26

27

28

29
29

30

31

33

33

3436

35

32

3738

39
40

41

43
45

4647

48

44
45

4647

48

42
45

4649

50

9

3 



Part List:N704P287837K

1

1 pc

6 10 11 12

13 14 16 17

1 pc

19

1 pc

1 pc 1 pc 1 pc 1 pc

20

1 pc

21 22

1 pc1 pc

25 26

47 49

2 pcs 1 pc 1 pc

2 pcs 2 pcs

2 pcs2 pcs

4 



2

1 pc

3 4

1 pc

5

1 pc

7

1 pc

8

1 pc

9 15 18

1 pc 1 pc

1 pc

23

24 27

1 pc

28 29

1 pc

30

1 pc

Part List:N704P287838K

31

1 pc

32

1 pc

33 34

1 pc

35

1 pc

36

1 pc

37

1 pc

38

1 pc

39 40

41 42 43 44 45

46 48

1 pc

1 pc 1 pc

50

2 pcs

2 pcs

2 pcs

2 pcs

2 pcs

1 pc

1 pc 2 pcs 4 pcs

2 pcs2 pcs4 pcs
Hardware

( AI INCLUDED BOX-N704P287838K)

5 



Hardware list

A B C

D E F

G H I

J K L

M

Assembly Tools Required (Not Included)

Male Camlock x 109 Female Camlock x 109 6*30Dowel x 42

Hex Key M3 x 1

3.5*12mm Screw x 325*38mm Screw x 38 4*35mm Screw x 20

4*18mm Screw x 8

Handle  x 5

N

 x16

x 2 x 2

 x1

Handle  x 4

Q

3.5*14mm Screw x 64

P R

O

TS U

WV X
4*8mm Screw x 5

Y

Drawer slider 12" x 4

 x1

4*12mm Screw x 16  x8

 x4  x4

Wall Fixing Pack x 2  x8  x1

 x2

Z 1A

8*30Dowel x 10

6 



Assembly Instructions

Step 2

Step 1

Attention:
Take care when installing the slide rails as
they have been pre-lubricated

Ball Bearing Slide

Slider runner

Slider runner

Ball Bearing Slide

 X4

Y

Y x 4

Y1

Y2

Y2

Y1

E

E x 4

Y1 x 2

Y1-Ball Bearing Slide

Y1

E E

Y1

Y1

E

E

E

E

12

13

7 



Assembly Instructions

Step 3

Step 4

180'

Y1

E E

E

E

E

E

Y1

Y1

E

E x 4

Y1 x 2

Y1-Ball Bearing Slide

14

A

A x 6

A A

A

A

A

A

A

10

8 



Assembly Instructions

Step 5

Step 6

1 2 3
"Need to rotateand tighten B"

C

C x 2

B

B x 6

C

C x 6

B

C

B

B

B

B
B

B

C

C

C

C

C

C

C C

C

D
D

D

D

D

D x 3

10
12

14

13

11

15

9 



Assembly Instructions

Step 7

Step 8 A

A x 8

A

A x 5

A

A

A
A

A

A

2

3

A

A
A

A
A

A
A

A
A

15

10 



Assembly Instructions

Step 9

Step 10 B

B x 8

5
8

4

7

D

D

D

D

D

D

D x 4

2

3

9

9

8

7

B
B

B
B

B

B

B
B

B

1 2 3
"Need to rotateand tighten B"

11 



Assembly Instructions

Step 11

Step 12

2

3

16

17

D

D

D x 14

D

D

D

D

D

D

D

D

D

D
D

D

D

D

B

B x 5

C

C x 2

C

B

B
B

B

B

B

C

C

15

16

1 2 3
"Need to rotateand tighten B"

12 



Assembly Instructions

Step 13

Step 14

15

A

A

A

A

A

A

A

A x 5

C

B

C

C

B
B

B

B

B

17

15

B

B x 5

C

C x 2

1 2 3
"Need to rotateand tighten B"

13 



Assembly Instructions

Step 15

Step 16

A

A x 15

A

A
A A

A

A A A

A

A

A
A A

A

A
A

B

B x 15

C

C x 2

1

1C

B

C

C

B
B

B
B

B

B

B

B

B
B

B

B
BB

B

1 2 3
"Need to rotateand tighten B"

14 



Assembly Instructions

Step 17

Step 18

A

A x 8

A

11

A

A

A

A

A

A

A

A

11

C

D

C

C

C

C
C

C

C

C

D x 17

D

D x 17

C

C x 8

15 



Assembly Instructions

Step 19

Step 20

A

A x 10

Y1

E E

A

A x 2

B

B x 2

A

C B

B

C

C

C

C

C

C

A

24

25

24

x 2 x 2

C

C x 12

19

22

A

C

A

AA

AA

A A

A
A

A

C

C

C

C

Y1

Y1

E

E

E

E

1 2 3
"Need to rotateand tighten B"

C

C x 4

E

E x 4 Y1 x 2

Y1-Ball Bearing Slide

16 



Assembly Instructions

Step 21

Step 22

24

26

B
B

B

B

B

B

B

B x 5

19

20

C

A

A

A x 7

G

G x 1

C

C x 2

G

G

C

C

A
A

A

A

A

A

Y1

E E

E

E

Y1

180' Y1 x 1

Y1-Ball Bearing Slide

1 2 3
"Need to rotateand tighten B"

E

E x 2

17 



Assembly Instructions

Step 23

Step 24

26

24

22

20

B

B x 5

B

B

B x 5

B

BB

B
B

B

B
B

B

B

B

1 2 3
"Need to rotateand tighten B"

1 2 3
"Need to rotateand tighten B"

19

18 



Assembly Instructions

Step 25

Step 26

21

21

Y1

E E

C

A G

180'

C

C

A
A

AA

A

A x 2
G

A

A x 7

G

G x 1

C

C x 2

B

B

B
B

B
B

B

B x 5

Y1

E

E

Y1 x 1

Y1-Ball Bearing Slide

1 2 3
"Need to rotateand tighten B"

E

E x 2

22

19 



Assembly Instructions

Step 27

27

28

18

B

B x 4

B

B

B

B

B

1 2 3
"Need to rotateand tighten B"

20

22

20 



Assembly Instructions

Step 28

11

B

B x 8

B
B

B

B

B

B

B

B

B

1 2 3
"Need to rotateand tighten B"

21 



Assembly Instructions

Step 29 X

X x 1

X

22 



Assembly Instructions

Step 30 M

M x 16

6

23

6

23

M

M

M

M

M

M

M

M

M

M
M

M
M

M

M

M
M

23 



Assembly Instructions

Step 31

Step 32

Q

Q x 8

29

x 2

W

W x 4

K

K x 4

J

J x 2

J

K
K

W

Q
Q

W

Q
Q

J

K
K

Q

Q x 12

W

W x 4

K

K x 4

J

J x 2

H

H

H x 2

Q
Q

30 31

H H

Q
Q Q

Q

JJ

K
K

K
K

W

W W

W

Q
Q

Q
Q

Q
Q

Q
Q

J

K

K

W

Q
Q

Q
Q

W

24 



Assembly Instructions

Step 33

30

31

29

29

Q

Q x 32

x 4

Q x 4

Q x 4

Q x 4

Q x 4

Q x 4

Q x 4

Q x 4

Q x 4

Q

25 



Assembly Instructions

Step 34

Step 35

A

A x 4

37

37

38

39

41

40

37

37

37

B

A

AA

A
A

B
B

B
B

B

B x 4

I

I x 1

F

F x 4

T

T x 1

F
T

I

T

I

F
F

F
F

1 2 3
"Need to rotateand tighten B"

26 



Assembly Instructions

Step 36

Step 37

A

A x 16

42 x2 43 44

A

A
A

A
A

A
A

A
A

A
A

A
A

42 x2
43 44

45

46

45

46

45

46

B

BB

BB

BB

BB

BB

BB

B

B x 16

1 2 3
"Need to rotateand tighten B"

27 



Assembly Instructions

Step 38

Step 39

48 4850

42 x2
43 44

42 x2
43 44

F

F

F x 16

49 47 47

F
F

F
F

F
F

F
F

F
F

F
F

28 



Assembly Instructions

Step 40

Step 41

42 x2

T

I
Y2

E E

43
44

Y2

E E
T

I

Y2 x 4

E

E x 8

Y2-Slider runnerI

I x 2

T

T x 2

Y2 x 4

E

E x 8

Y2-Slider runnerI

I x 2

T

T x 2

Y2

E

E

E

E

E

E

E

E

Y2

Y2

Y2

T

IT

I

29 



Assembly Instructions

Step 42

37
43

44

42

42

30 



Assembly Instructions

Step 43 S

S x 4

S

P x 4

S

P x 4

S

P x 4

S P x 4

S P x 4

P

P x 16

31 



Assembly Instructions

Step 44 R

R x 8

R R
R

R

R

R

R

R

R

R

32 



Assembly Instructions

Step 45 N

N x 1

O

O x 1

N O

O

33 



Assembly Instructions

Step 46

Step 47

A

A x 16

x2

B

B x 4

1A

1A x 2

1A

B

1A

1A

B

B

B

B

A

A

A A

A

A

A

A

A

A

A

33

34

35

36

34

35

1 2 3
"Need to rotateand tighten B"

34 



Assembly Instructions

Step 48

Step 49

1A

1A x 8

B

B

B x 4

B

B

B

B

1A

1A

1A

1A

1A

1A

1A

1A

1A

36

33

33

36

1 2 3
"Need to rotateand tighten B"

35 



Assembly Instructions

Step 50

Step 51

U

U x 4

B

B x 8

B

B

B

B

B

B

B

B

B

U

U

U

U

U

U

36

1 2 3
"Need to rotateand tighten B"

36 



Assembly Instructions

Step 52

Step 53

x4Q

x4Q

x4Q

32

32

Q
Z Q Q

Q

Z

Q
Q

Z

Q

Q x 8

Q

Q x 4

Z

Z x 2

37 



Assembly Instructions

Step 54

DANGER - To prevent furniturefrom toppling attach,
mount, boltor otherwise secure to walls andfloors.
Do not put heavy items ontop shelves.
Do not place unstablefurniture near where children play.
An anchor kit suitable for plasterwalls is included with this item,
if you require a different kit consultyour nearest hardware store.

V

V x 2

WALL

1!

WALL
drilling hole

6x30mm
2!
WALL

3!

4!

5!

WALL

V

V

V

V

V

38 


	DSDJ0007 化妆台套桌配椅子-说明书-01
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-02
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-03
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-04
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-05
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-06
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-07
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-08
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-09
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-10
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-11
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-12
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-13
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-14
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-15
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-16
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-17
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-18
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-19
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-20
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-21
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-22
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-23
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-24
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-25
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-26
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-27
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-28
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-29
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-30
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-31
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-32
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-33
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-34
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-35
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-36
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-37
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-38
	图纸和视图
	模型


	DSDJ0007 化妆台套桌配椅子-说明书-39
	图纸和视图
	模型



